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OB Hp i ED — 0.05 — PA-1000
QEREATEED — 0.04 — PA-1000
"M/9(A) L  |OEEREE — 0.05 — PA-1000
@ERERFEED — 0.06 — PA-1000
ibis 0.07 0.07 — PA-1000
OBt L ED — 0.06 — PA-1000
QEELFEED — 0.06 — PA-1000
5/14(K)EEN  |QEERRE — 0.07 — PA-1000
@EERTEED — 0.06 — PA-1000
whi5 0.05 0.05 — PA-1000
SERE3 14
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5cm 50c¢cm 100¢cm
gt L&D — 0.07 — PA-1000
QEELFEED — 0.06 — PA-1000
M/7(R) L |OEERERED — 0.09 — PA-1000
@EErTEED — 0.06 — PA-1000
15 0.06 0.06 — PA-1000
gt L&D — 0.05 — PA-1000
QEELTEE — 0.06 — PA-1000
5/10(&)Eh |OEERRE — 0.06 — PA-1000
@ERER TE D — 0.05 — PA-1000
fibiz 0.06 0.06 — PA-1000
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Dt e Ep — 0.07 — PA-1000
QEREITEED — 0.06 — PA-1000
1/5(A) BN |ORERRKER — 0.06 — PA-1000
@EErRTEED — 0.05 — PA-1000
iz 0.06 0.06 — PA-1000
Dt & — 0.06 — PA-1000
QEREITEED — 0.06 — PA-1000
5/11(&)EN  |OEERERE — 0.06 — PA-1000
@ERERFEED — 0.05 — PA-1000
15 0.05 0.05 — PA-1000
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Dt D — 0.07 — PA-1000
QEREITEED — 0.07 — PA-1000
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@ERER FEED — 0.05 — PA-1000
wi5 0.05 0.06 — PA-1000
gt it Ep — 0.07 — PA-1000
QEELFEED — 0.07 — PA-1000
590K EY  |OEERREED — 0.06 — PA-1000
@EErRTEED — 0.05 — PA-1000
5 0.06 0.06 — PA-1000
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fibis 0.07 0.06 — PA-1000
Dt & — 0.07 — PA-1000
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Dt D — 0.07 — PA-1000
QEREITEE — 0.08 — PA-1000
1M/9(A)EY |OEERRER — 0.07 — PA-1000
@ERER FEED — 0.06 — PA-1000
wi5 0.07 0.07 — PA-1000
gt D — 0.08 — PA-1000
QEELFEED — 0.07 — PA-1000
5/11(A)iEN  |OREERERSH — 0.07 — PA-1000
@EErRTEED — 0.08 — PA-1000
fibis 0.07 0.08 — PA-1000
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Dt e Ep — 0. 09 — PA-1000
QEREITEED — 0. 08 — PA-1000
2/6(&) QERER R AD — 0. 08 — PA-1000
@EErRTEED — 0. 08 — PA-1000
iz 0. 05 0. 07 — PA-1000
Dt & — 0. 09 — PA-1000
QERETEED — 0. 08 — PA-1000
11/6(K) QEERRAD — 0. 09 — PA-1000
@ERERFEED — 0. 07 — PA-1000
15 0. 08 0. 09 — PA-1000
OBt L ED — 0. 10 — PA-1000
QEELTEE — 0. 07 — PA-1000
8/8(X) QERER AR — 0. 08 — PA-1000
@EEREL — 0. 07 — PA-1000
Wiz 0.10 0. 10 — PA-1000
gt L&D — 0. 08 — PA-1000
QEREITEED — 0. 07 — PA-1000
5/70K) QEERRED — 0. 09 — PA-1000
@EErTEED — 0. 07 — PA-1000
15 0.10 0.10 — PA-1000
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- @EFERI T 5D _ 0.07 — PA-1000
i5 0.12 0. 11 — PA-1000
OBt L ED — 0. 09 — PA-1000
Frices | OEREILER — 0.10 — PA-1000
1/6(A) QEEREED — 0. 09 — PA-1000
i @EEREL — 0. 07 — PA-1000
ibis 0.13 0. 11 — PA-1000
OBt L ED — 0.10 — PA-1000
QEREITEED — 0.10 — PA-1000
11%}f$) QEFER AR — 0. 09 — PA-1000
@ERER TEED — 0. 08 — PA-1000
whi5 0.12 0. 10 — PA-1000
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1276(KR) BEh |QEEREE — 0.12 — PA-1000
@E FErIFEED — 0.10 — PA-1000
GEELFEER — 0.12 — PA-1000
DB oL ER — 0.10 — PA-1000
Q15 0.17 0.16 — PA-1000
179(&) Bh |OEEREE — 0. 14 — PA-1000
@EFErIFEED — 0.10 — PA-1000
GEELFEER — 0. 11 — PA-1000
IFREZE(BR) — 0. 07 0. 08 PA-1000
1M/60k) M 2FRBEE(BR) — 0. 08 0. 09 PA-1000
1F = (BN) — 0. 07 0. 08 PA-1000
IFREZE(BA) — 0. 08 0. 08 PA-1000
10715(8) Bn 2FREZE(BWN) — 0. 09 0.10 PA-1000
2R E (BA) — 0. 06 0. 07 PA-1000
DB Hh L ER — 0. 09 — PA-1000
Q15 0.16 0.16 — PA-1000
1074(K) BN |QEREREER — 0.13 — PA-1000
@EFErRFEER — 0. 09 — PA-1000
GEREL FEER — 0. 13 — PA-1000
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1F8EE (BA) — 0. 07 0. 07 PA-1000
OEih il Ep — 0. 09 — PA-1000
Qb5 0.15 0.15 — PA-1000
9/6(K) BEh |OEEREE — 0.15 — PA-1000
@EFEr T ED — 0.10 — PA-1000
GEEFEE — 0. 11 — PA-1000
IFREE(EA) — 0. 07 0. 07 PA-1000
815(K) BEh |2FRBEZE(BRN) — 0. 09 0. 08 PA-1000
1FEEE(BA) — 0. 07 0. 07 PA-1000
DEtth ohiEp — 0. 11 — PA-1000
Qubi% 0.15 0.15 — PA-1000
8/7() WaEh |QEEREE — 0.14 — PA-1000
@ERErRTEED — 0. 11 — PA-1000
GEEFEL — 0. 11 — PA-1000
IFREE(ERN) — 0. 06 0. 08 PA-1000
1170K) B 2FBT(BA) — 0.10 0.10 PA-1000
2F B E (BW) — 0. 06 0. 07 PA-1000
gt ohiEp — 0.12 — PA-1000
Qb5 0.16 0.16 — PA-1000
176(&) Y |OEEREE — 0.13 — PA-1000
@EERFEED — 0.10 — PA-1000
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2F = (BW) — 0. 08 0. 07 PA-1000
DEtth ohiEp — 0.13 — PA-1000
Qubi% 0.17 0.16 — PA-1000
5/11(%) Bh |OBEEREER — 0.13 — PA-1000
@ERErRTEED — 0.12 — PA-1000
GEEFEL — 0.12 — PA-1000
IFREE(ERN) — 0. 09 0. 11 PA-1000
423(B) M 2FRBEZE(ENRN) — 0. 08 0. 08 PA-1000
2F B E (BW) — 0. 07 0. 07 PA-1000
gt ohiEp — 0. 11 — PA-1000
Qb5 0.17 0.17 — PA-1000
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322(K) €Y [IFREE(BN) — 0. 07 0. 08 PA-1000
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D il Ep — 0.12 — PA-1000
Qb5 0.16 0. 15 — PA-1000
3/13(K) Bh |OEEREER — 0. 15 — PA-1000
@E FErIFEED — 0.13 — PA-1000
GEELFEAR — 0.16 — PA-1000
=, FREZERN) — 0. 07 0. 08 PA-1000
27168 &Y Lepe= mR) — 0. 08 0. 08 | PA-1000
DB oL ER — 0.13 0.13 PA-1000
Q15 0.16 0.16 — PA-1000
2780K) &Y |QHEEREEEE — 0. 16 — PA-1000
@E FErIFEED — 0. 15 — PA-1000
GEEEILFEED — 0.18 — PA-1000
IFEELE (BN) — 0. 07 0. 07 PA-1000
1.718(K) BN [HFRE=E(BRN) — 0. 07 0. 07 PA-1000
FRE=(BN) — 0. 01 0. 09 PA-1000
DB oL ER — 0. 16 0. 15 PA-1000
- Qw5 0.14 0.15 — PA-1000
1/14;%;@%) O e — 0.16 — PA-1000
@E FErIFEED — 0.13 — PA-1000
GEREL FEER — 0.18 — PA-1000
WEE (BN) — 0. 07 — PA-1000
12715(K) BN NFERT(BRA) — 0. 08 — PA-1000
2QFERTF (BA) — 0. 08 — PA-1000
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NA5CR) Hn 1FEE = (BMA) — 0. 08 — PA-1000
FIRE=E(BN) — 0. 08 — PA-1000
IFREZE(EAN) — 0. 07 — PA-1000
it DLER (L) — 0. 14 — PA-1000
fbi5 0. 21 — — PA-1000
1F(BWN) — 0. 09 — PA-1000
10.721(&) £Y |2F(BRA) — 0. 09 — PA-1000
W= (BN) — 0. 08 — PA-1000
£k — 0.18 — PA-1000
ERER (£) — 0. 20 — PA-1000
+ B ER () — 0.14 0.18 PA-1000
8/100K) Hat Wig 0. 26 —_ — PA-1000
TR 234 B ER () — 0.14 0.16 RDS-30
6.723(K) BN [mi5 0.17 — — RDS-30
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